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Multiple Choice Questions (4 points each)

ack would lead to:
1. A company decides to buy back its stocks with cash. In the short run, a stock buyb

: £y
a) Increase in Return on Equity AV
b) Increase in Return on Assets ;
c). Decrease in Earnings per Share J{

A and B
e) None of the above
et i0 Wi ing i ratio?
2. An increase in which of the following accounts increases a firm’s current ratio without affecting its cash

a) Accounts payable

b) Cash
Accounts receivable
Notes Payable

e) None of the above

3. According to the Generally Accepted Accounting Principles:

a) Intangible assets cannot be recorded under balance sheet, they have to be recorded in pro-forma
financial statements.

b) Intangible assets do not depreciate.

\ c) Taxes have to be paid in the year they are due. oy :
d) Assets are recorded according to how liquid they are with less liquid ones recorded first.
Revenue coming from a one-time sale of a plant or an equipment cannot be recorded under the

operating section of income statement.

4. As a direct effect of the increased stock price of a company:

a) Earnings would go up.
b) Equity would go up.
& Profit Margin would go up.
Market Capitalization would go up.
e) candd

5. When would an investor be worried a

a) If P/E ratio is low
b) If inist

1




owing will increase sustainable growth rate?

6. Which of the foll

a) Keep the retention ratio constant

b) Increase debt
ecrease Costs of Goods Sold
Decrease in asset turnover ratio

e) Increase dividend payout ratio »

nsf  RoEf

i i ; a
7. BGL Enterprises increases its operating efficiency such that costs decrease while sales remain constant. As
result, given all else constant, the: W5 4

; s )
return on equity will increase. -
return on assets will decrease.

c) profit margin will decline. *
d) equity multiplier will decrease.
e) price-earnings ratio will increase.

debt to equity ratio constant. Which of the following is most likely

8. A firm has a financial objective of keeping its ant.
sell any stocks or any of its fixed assets?

to happen if the firm makes a loss and does not
€y
a) short term debt will rise
b) long term debt will rise

either short or long term debt or both will rise
et working capital will fall

&) equity will rise

@ Rakop
9. If the plowback ratio is 1, you can say for sure that

a) Sustainable growth rate is positive.
b) Internal growth rate is zero.
c) External financing need is zero.
d) Internal growth rate is positive
There may or may not be an increase in retained earnings. »

10. Which of the following is NOT a reas oo
product to the market? : ag gy :__Qnable actlpn_for‘.a

Get ahead of the
Until making po:
C) Increase the fin
d) K%epa

e) b
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\)\12' You are offered two investment opport
&

T Vear1 | Year2 | vear3 Year 4
A 7800 | 2600 | 2000 | 1 850
B 7200 | 2,200 | 1,800 | 1,900

n A is twice as much as option B to you

cost of C+100. The value of optio

You can get A at a cost of Cand B ata
annually in the market, what is C?
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13. You are the Financial Manage
debt-equity ratio of .30. Profit
owth ‘possible?
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14. A project will bring money for 4 years after its initial investment of $10,000. In each of the first 3 years )
flow will be $X, and in 4™ year, it wiﬁl be $6,000. If the payback period of this project is 3 years and 2 months,
what is NPV given APR is 10%?
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15. Following table provides cash flow information for three mutually exclusive projects: A, B, and C. You r';ave a
budget of $1,000. Which of these projects would you invest on using the Profitability Index criterion IF ANY?

APR 10%. (NOTE that these are NOT mutually exclusive projects, you can pick as many as your budget would
allow but you cannot invest on a project twice!!!)

Years A B €
0 -500 -180 -450
| 200 20 160
2 200 20 180
3 200 100 200
4 200 100200
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